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OCANSPS-161. Please refer to the response to OCA/USPS44(b). Assume two 

groups of 10,000 letter-shaped pieces are identical in every respect. More specifically, 

each letter-shaped piece in each group is automation compatible, barcoded and paid a 

First-Class rate. However, one group weighs one ounce and the other group weighs 

two ounces. 

a. 

b. 

C. 

d. 

e. 

Assume further that the two groups of letter-shaped pieces are processed in one 

pass on the same Delivery Bar Code Sorter (DBCS). Please confirm that the 

throughputs and velocities for that pass would be the same for each group. If 

you do not confirm, please identify and describe all factors that would cause the 

throughputs and velocities for each group to differ. 

Assume the same facts above and in part a. Please confirm that the 

productivities for each group would be the same. If you do not confirm, please 

identify and describe all factors that would cause the productivities for each 

group to differ. 

Assume the same facts above and in part a. Please confirm that the wage rates 

for each group would be the same. If you do not confirm, please identify and 

describe all factors that would cause the wage rates for each group to differ. 

Assume the same facts above and in part a. Please confirm that the total cost 

and the unit cost for processing each group on the DBCS would be the same. If 

you do not confirm, please identify and describe all factors that would cause the 

total and unit costs for each group to differ. 

Assume the same facts above and in part a., except that each group of letter- 

shaped pieces is processed in two passes on the same DBCS. Please answer 
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f. 

cl. 

h. 

parts a., b., c., and d. assuming that each letter-shaped piece in each group is 

processed in two passes on the same DBCS. 

Assume the same facts above and in part a., except that each group of letter- 

shaped pieces is processed in two passes on the same DBCS. Please confirm 

that the total cost and the unit cost for processing each group would be twice the 

cost of each group if processed in one pass on the same DBCS. If you do not 

confirm, please explain. 

Please confirm that the responses to parts a. through f. would be the same 

where the two groups were processed on a Mail Processing Bar Code Sorter 

(MPBCS) and a Carrier Sequencing Bar Code Sorter (CSBCS), respectively. If 

you do not confirm, please explain. 

Please confirm that the responses to parts a. through g. would be the same 

where the two groups consisted of 100,000, 1 million, and 10 million letter- 

shaped pieces, respectively. If you do not confirm, please explain. 

OCNUSPS-162. Please refer to the response to OCAAJSPS-44(b). Assume two 

groups of 10,000 letter-shaped pieces are identical in every respect. More specifically, 

each letter-shaped piece in each group is automation compatible, barcoded, and paid a 

Standard Mail Regular rate. However, one group weighs one ounce and the other 

group weighs two ounces. 

a. Assume further that the two groups of letter-shaped pieces are processed in one 

pass on the same DBCS. Please confirm that the throughputs and velocities for 

that pass would be the same for each group. If you do not confirm, please 
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b 

C. 

d. 

e. 

f. 

identify and describe all factors that would cause the throughputs and velocities 

for each group to differ. 

Assume the same facts above and in part a. Please confirm that the 

productivities for each group would be the same. If you do not confirm, please 

identify and describe all factors that would cause the productivities for each 

group to differ. 

Assume the same facts above and in part a. Please confirm that the wage rates 

for processing each group would be the same. If you do not confirm, please 

identify and describe all factors that would cause the wage rates for each group 

to differ. 

Assume the same facts above and in part a. Please confirm that the total cost 

and the unit cost for processing each group on the DBCS would be the same. If 

you do not confirm, please identify and describe all factors that would cause the 

total and unit costs for each group to differ. 

Assume the same facts above and in part a., except that each group of letter- 

shaped pieces is processed in two passes on the same DBCS. Please answer 

parts a., b., c., and d. assuming that each letter-shaped piece in each group is 

processed in two passes on the same DBCS. 

Assume the same facts above and in part a., except that each group of letter- 

shaped pieces is processed in two passes on the same DBCS. Please confirm 

that the total cost and the unit cost for processing each group would be twice the 

cost of each group if processed in one pass on the same DBCS. If you do not 

confirm, please explain. 
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9. 

h. 

Please confirm that the responses to parts a. through f. would be the same 

where the two groups were processed on a MPBCS and a CSBCS, respectively. 

If you do not confirm, please explain. 

Please confirm that the responses to parts a. through g. would be the same 

where the two groups consisted of 100,000, 1 million, and 10 million letter- 

shaped pieces, respectively. If you do not confirm, please explain. 

OCAAJSPS-163. Please refer to the response to OCANSPS-44(b). Assume two 

groups of 10,000 letter-shaped pieces are identical in every respect. More specifically, 

each letter-shaped piece in each group is automation compatible and barcoded. 

However, one group weighs one ounce and paid a First-Class rate, and the other group 

weighs two ounces and paid a Standard Mail Regular rate. 

a. Assume further that the two groups of letter-shaped pieces are processed in one 

pass on the same DBCS. Please confirm that the throughputs and velocities for 

that pass would be the same for each group. If you do not confirm, please 

identify and describe all factors that would cause the throughputs and velocities 

for each group to differ. 

b. Assume the same facts above and in part a. Please confirm that the 

productivities for each group would be the same. If you do not confirm, please 

identify and describe all factors that would cause the productivities for each 

group to differ. 

C. Assume the same facts above and in part a. Please confirm that the wage rates 

for processing each group would be the same. If you do not confirm, please 
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d. 

e. 

f. 

cl. 

h. 

i. 

identify and describe all factors that would cause the wage rates for each group 

to differ. 

Assume the same facts above and in part a. Please confirm that the total cost 

and the unit cost for processing each group on the DBCS would be the same. If 

you do not confirm, please identify and describe all factors that would cause the 

total and unit costs for each group to differ. 

Assume the same facts above and in part a., except that each group of letter- 

shaped pieces is processed in two passes on the same DBCS. Please answer 

parts a., b., c., and d. assuming that each letter-shaped piece in each group is 

processed in two passes on the same DBCS. 

Assume the same facts above and in part a., except that each group of letter- 

shaped pieces is processed in two same DBCS. Please confirm 

that the total cost and the unit cost group would be twice the 

cost of each group if processed in DBCS. If you do not 

confirm, please explain. 

Please confirm that the responses to parts a through f. would be the same 

where the two groups were processed on a MPB S and a CSBCS, respectively. 

If you do not confirm, please explain. 

,:_: 

Please confirm that the responses to parts a. throug g. would be the same 

where the two groups consisted of 100,000, 1 millio , and 10 million letter- 

shaped pieces, respectively. If you do not confirm, plea e explain. 

Please confirm that the responses to parts a. thro h. would be the same 

where the group that paid the First-Class rate weighed two ounces and the group 
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that paid the Standard Mail Regular rate weighed one ounce. If you do not 

confirm, please explain. 

OCANSPS-164. Please refer to the response to OCANSPS-42(b). 

a. 

b. 

C. 

Please confirm that barcoded letter-shaped pieces consisting of pieces paying a 

First-Class letter rate and a First-Class card rate are typically processed 

separately until processing into Delivery Point Sequence (DPS). If you do not 

confirm, please explain. 

Please confirm that prebarcoded letter-shaped pieces consisting of pieces paying 

a First-Class letter rate and a First-Class card rate are typically processed 

separately until processing into DPS. If you do not confirm, please explain. 

Please confirm that for processing into DPS, barcoded and prebarcoded letter- 

shaped pieces consisting of pieces paying a First-Class letter rate and a First- 

Class card rate become commingled only on the second DPS pass. If you do not 

confirm, please explain. 

OCAAJSPS-165. Please refer to the response to OCAAJSPS-44(b). Assume two 

groups of 10,000 letter-shaped pieces are identical in every respect. More specifically, 

each letter-shaped piece in each group is automation compatible, barcoded, and weighs 

one ounce. However, one group paid a First-Class letter rate and the other group paid 

a First-Class card rate. 

a. Assume further that the two groups of letter-shaped pieces are processed in one 

pass on the same DBCS. Please confirm that the throughputs and velocities for 
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b. 

C. 

d. 

e. 

f. 

9. 

that pass would be the same for each group. If you do not confirm, please 

identify and describe all factors that would cause the throughputs and velocities 

for each group to differ. 

Assume the same facts above and in part a. Please confirm that the 

productivities for each group would be the same. If you do not confirm, please 

identify and describe all factors that would cause the productivities for each 

group to differ. 

Assume the same facts above and in part a. Please confirm that the wage rates 

for each group would be the same. If you do not confirm, please identify and 

describe all factors that would cause the wage rates for each group to differ. 

Assume the same facts above and in part a. Please confirm that the total cost 

and the unit cost for processing each group on the DBCS would be the same. If 

you do not confirm, please identify and describe all factors that would cause the 

total and unit costs for each group to differ. 

Assume the same facts above and in part a., except that each letter-shaped 

piece in each group weighed 2 ounces. Please answer parts a., b., c., and d. 

assuming that each letter-shaped piece in each group weighed 2 ounces. 

Assume the same facts above and in part a., except that each letter-shaped 

piece in each group weighed 3 ounces. Please answer parts a., b., c., and d. 

assuming that each letter-shaped piece in each group weighed 3 ounces. 

Assume the same facts above and in part a., except that each group of letter- 

shaped pieces is processed in two passes on the same DBCS. Please answer 
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h. 

i. 

i 

parts a., b., c., and d. assuming that each letter-shaped piece in each group is 

processed in two passes on the same DBCS. 

Assume the same facts above and in part a., except that each group of letter- 

shaped pieces is processed in two passes on the same DBCS. Please confirm 

that the total cost and the unit cost for processing each group would be twice the 

cost of each group if processed in one pass on the same DBCS. If you do not 

confirm, please explain. 

Please confirm that the responses to parts a. through h. would be the same 

where the two groups were processed on a MPBCS and a CSBCS, respectively. 

If you do not confirm, please explain. 

Please confirm that the responses to parts a. through i. would be the same where 

the two groups consisted of 100,000, 1 million, and 10 million letter-shaped 

pieces, respectively. If you do not confirm, please explain. 

OCAIUSPS-166. Please refer to the response to OCAIUSPS-44(b). Assume two 

groups of 10,000 letter-shaped pieces are identical in every respect. More specifically, 

each letter-shaped piece in each group is automation compatible and barcoded. 

However, one group weighs one ounce and paid a First-Class card rate, and the other 

group weighs two ounces and paid a First-Class letter rate. 

a. Assume further that the two groups of letter-shaped pieces are processed in one 

pass on the same DBCS. Please confirm that the throughputs and velocities for 

that pass would be the same for each group. If you do not confirm, please 
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b. 

C. 

d. 

e. 

f. 

identify and describe all factors that would cause the throughputs and velocities 

for each group to differ. 

Assume the same facts above and in part a. Please confirm that the 

productivities for each group would be the same. If you do not confirm, please 

identify and describe all factors that would cause the productivities for each 

group to differ. 

Assume the same facts above and in part a. Please confirm that the wage rates 

for processing each group would be the same. If you do not confirm, please 

identify and describe all factors that would cause the wage rates for each group 

to differ. 

Assume the same facts above and in part a. Please confirm that the total cost 

and the unit cost for processing each group on the DBCS would be the same. If 

you do not confirm, please identify and describe all factors that would cause the 

total and unit costs for each group to differ. 

Assume the same facts above and in part a., except that each group of letter- 

shaped pieces is processed in two passes on the same DBCS. Please answer 

parts a., b., c., and d. assuming that each letter-shaped piece in each group is 

processed in two passes on the same DBCS. 

Assume the same facts above and in part a., Except that each group of letter- 

shaped pieces is processed in two passes on the same DBCS. Please confirm 

that the total cost and the unit cost for processing each group would be twice the 

cost of each group if processed in one pass on the same DBCS. If you do not 

confirm, please explain. 
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9. 

h. 

i. 

Please confirm that the responses to parts a. through f. would be the same 

where the two groups were processed on a MPBCS and a CSBCS, respectively. 

If you do not confirm, please explain. 

Please confirm that the responses to parts a. through g. would be the same 

where the two groups consisted of 100,000, 1 million, and 10 million letter- 

shaped pieces, respectively. If you do not confirm, please explain. 

Please confirm that the responses to parts a. through h. would be the same 

where the group that paid the First-Class card rate weighed two ounces and the 

group that paid the First-Class letter rate weighed one ounce. If you do not 

confirm; please explain. 
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